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Topic:- General Knowledge and Logical Knowledge

1) India has been ranked in the 2017 Human Development Index (HDI). / HIHd

e qEeie @ISIeng), 2017 # YRd &1 T fear B
1. 130th 7 1307
2.129th 7 129
3.132nd 7 1329

4. 1315t 7 131

Correct Answer :-
. 1315t /1319

2) Day after tomorrow is my birthday. On the same day next week falls ‘Holi’. Today is Monday.

What will be the day after *Holi’? / U3} AR e 81 TR TtaTe g1 a1 gieil’ smuvft1 st
TAHAR B 1 'S’ & q1¢ BT &= 7 |1 ghm?

1. Saturday / R AR

2. Friday / {ehdR
3. Wednesday / gYUdIX

4. Thursday / T[¥>dIR

Correct Answer :-

e Thursday / [&dR

3) The river festival “Namami Brahmaputra” was held in 2017 in 12017 ® Tt Ud «HTY
ERLER # Smaiford fosam i

1. Assam / SgH

2. Bihar / [9BR

3. West Bengal / Ui S



4. Sikkim / fRfa®H

Correct Answer :-

e Assam /3gH

4) If three unbiased coins are tossed, then what is the probability of getting at least two heads? /qﬁ

o= frener Ryae) &1 SBTAT 9141 8, ) 9 9 $H & Y Ut 319 &t R Wil 82

WI’—‘ h..'lli—* J:LlH

>
e | e

Correct Answer :-

5) Which number is written backward as 'Two thousand eight hundred and three'? / P Y T

S A foreq v <3 gIR ame | i foredt st

1. Eight thousand and thirty two / 3{Td BuIIR IR

2. Eight thousand three hundred and two / 3{6 BSIR GIG| ﬁf ?‘ﬁ
3. Three thousand eight hundred and two / A BOIR 313 qrar

4. Three thousand and eighty two / GG ESSIRCRIR]

Correct Answer :-
e Three thousand and eighty two / GG ESSIRCRIR]

6) Indian Women’s hockey team won the 2016 Asian Champions Trophy against which team? /

YR ufgen gTet 0 A i 0 &) wigaa # g3e: TR I Ra=y 2w, 2016 St
1. China / 99

2. Japan / SO

3. South Korea / GI&0T HIRAT

4. Pakistan / UTfoh &



Correct Answer :-

e China /3

7) If POLISH is coded PPNLWM, then how is MUMBAI coded? / Gf& POLISH® PPNLWMT
PIfSd foaT S1d1 8, I MUMBAI®) &1 Sifsd foear s

1. MVOEEM
2. MVOFEN
3. MVOEFN

4. MVOEEN

Correct Answer :-
« MVOEEN

8) If RICH is coded NFAG, then how is FULL coded? / Tf¢ RICH® NFAGQ ®If&d fhar wiran g,
Al FULL DY A pifed far s

1. BSJK
2. ARJK
3. BRIK

4. ASTK

Correct Answer :-
e BRIK

9) If COULD is coded BNTKC and MARGIN is coded LZQFHM, then how is MOULDING coded? /
IfE COULD B BNTKC H HIfSd fhar 9ITar &, 3 MARGIN & LZQFHM & ®ifed foar Srar
8, 9 MOULDING &1 33 ®ifed far s

1. NITKHCMF
2. LNTKCHMF
3. CHMFINTK

4. LNKTCHMF

Correct Answer :-

e LNTKCHMF

10) Select the option that is true about the Statements and Conclusions given:



Statements:
Some trees are pens
All pens are erasers

Conclusions:
I. All erasers are pens
II. Some erasers are trees

/ 39 fap ey &1 a4 Hifore s fP f2E e Hy=T iR fArepul & ar A T8t 8:
FU:

FOUSPaAA T

Ift sau s §

foreepd:

Lafives sau g

IL.POIESUS T

1. neither conclusion I nor conclusion II follows /T & FT5HY I R 7 & FSHY 11 S/TTR0T Hd &
2. both conclusion I and II follows /55 I 3R 11 g1 ST Hd %

3. only conclusion II follows / Had FBY 11 S{FERUT hdl g

4. only conclusion I follows / Hdd FSHY [ STV BT &

Correct Answer :-

« only conclusion II follows / Had sy 11 S{FERUT pdl ?

11) Select the option that is true about the Statements and Conclusions given:

Statements:
Some cows are animals

Some animals are monkeys

Conclusions:
I. All monkeys are cows

II. No animal is a cow

/ 39 fapeu &1 a1 Hifere ol fP fAE e Hy=T iR fepul & IR A T8t 8:
Y

PO T UY ¢

PO UYTRT

Ao

S



LM dR T §

I1. PIS TR TP T Tl 8

1. neither conclusion I nor conclusion II follows /- ésf ﬁ'@b_‘sfl GﬁT - ?Bf ﬁ'@lﬂf 1T 3FERT GG %
2. both conclusion I and II follows /55T I 3R 11 g1 ST FRA G

3. only conclusion II follows / $Had B 11 S{FERUT pdl g

4. only conclusion I follows / $Had pY 1 ST hdl g

Correct Answer :-

« neither conclusion I nor conclusion II follows /= &1 FTsHY 1 3R 7 €} fsd 11 SIXRUI HR &

12) Some boys are sitting in a row. Raju is sitting fourteenth from the left and Ramesh is seventh
from the right. If there are four boys between Raju and Ramesh, how many boys are there in the

row? / $O TSP UP Ufad A 9 §U &1 IS, TTT 3R T 149 YT UR 93T §34T § 3NR I, ST 3R
gwmﬁquﬂwa?ﬂ%lUﬁaﬁwaﬁ?m%mwmﬁa‘rwﬁﬁwmﬁm

1.25
2.17
3.20

4.23

Correct Answer :-

13) If BELIEF is coded EBILFE, then how is BANANA coded? / ‘T% BELIEF &1 EBILFE &

PIfSd forar ST 8, 9 BANANA & &9 $IfSa far smam?
1. ABANAN
2. ANANAB
3. ANABAN

4. BANAAN

Correct Answer :-

« ABANAN

14) In a row of girls facing north, Reena is 10th to the left of Pallavi, who is 21st from the right end.
If Malini, who is 17th from the left end, is fourth to the right of Reena, how many girls are there in a

row? / STR BY 3R T B g8 rafeal B ufd &, {1 vewre $ ame A gwd 8, o o ag SR A
21 2 gl Wi, St fr are BR @ 179 2, §91 % <o & Jref 8 < ufd § e wefai ¥



1. 44

2.43

3.37

4. 49

Correct Answer :-

. 43
15) In India, the ‘National Voters’ Day is observed on ./ HRG | ‘?'I'Ga'q HdcldTl
feaw S HART ST 7 |

1. December 25 / 25 fadaR
2. January 18 / 18 SR}
3. January 25 / 25 SFIaR]

4. March 05/ 05 A/

Correct Answer :-
« January 25/ 25 SR}

16) Select the option that is true about the Statements and Conclusions given:

Statements:
All painters are singers
Some singers are poets

Conclusions:
I. Some painters are poets
I1. All painters are poets

/ 39 fapey &1 a9 Hifore s fP 2w e Hy=T iR fAepul & IR A T8t 8:

HY:

It R TS §

T A HfA g

Ao

1. 90 REeR ®fa g

. 9 ReeR 3 §

1. neither conclusion I nor conclusion II follows /T & F5HY I 3R 7 & FSHY 11 SR Hd &
2. both conclusion I and II follows / fSHY I 3R 11 GIFT SR A &

3. only conclusion II follows / &Had sy 11 STV pdl g



4. only conclusion I follows / Pad Fepy 1 STV hXdl g

Correct Answer :-

« neither conclusion I nor conclusion II follows /= &1 F5HY 1 3R 7 &} s 11 S{FERUT A G

17) Select the option that is true about the Statements and Conclusions given:
Statements:

All teachers are students
All students are professors
Conclusions:

I All teachers are professors

IL. All professors are teachers

/ 39 fapeu &1 9= Hifore o fP 2 e Hy=T iR fAepul & I & T8t 8
DY

i Rrare s @

ft BT TR &

Froed:

1. 94 g MR 3

1. T TR g 8

1. neither conclusion I nor conclusion II follows /7 & f5HY I 3R 7 & fwhs 11 S{FERUT A G
2. both conclusion I and II follows /55 I 3R 11 g1 ST FRA T

3. only conclusion II follows / Had ﬁmﬂf T 3TN D dl %

4. only conclusion I follows / Had ﬁ’lﬁh_‘sfl STV hdl %

Correct Answer :-

« only conclusion I follows / Had s | ST hdl g

18) Which country hosted the 9th BRICS Summit in 20177 / 2017 H o1 fyay gwieH fre a'QT i
JTgifore fosam

1. Russia / &Y
2. China /?ﬂ:f
3. Brazil / STToltdl

4, India / HRd

Correct Answer :-



e China /%ﬂT-[

19) The Child Marriage Restraint Act was in WA I[N ﬁﬂ'l's’ Ay ififraa
T g T

1. 1899
2.1929
3.1952

4. 1973

Correct Answer :-

20) Who among the following has been described as the 'Father of Indian Aviation'? / mﬁ'\ﬁ

fPd uRdg fdam= &1 S Fe1 war 32
1. Dhirubhai Ambani / %ﬁgq—ﬂg ST

2. Raj Bahadur /XIS dgTgX

3. JRD Tata / I3RS CTeT

4. Jamnalal Bajaj / STHATCT dio]

Correct Answer :-

« JRD Tata / SRSl Tl

21) Rohit is seventeenth from the left end of a row of 29 boys, and Karan is seventeenth from the right
end in the same row. How many boys are there between them in the row? / 29 E@?ﬁﬂﬁ uferT A ﬁ%ﬁ
¢ BR A 841 3 iR SH iR A AN SR A Tgai I SH Ul AT d g &
fPaa asP 2

1.3

2. data inadequate /?:ET &mfﬁ%

3.5

4.6

Correct Answer :-

22) Choose the number which is different from others in the group: / 3 WWWW S
e # e A A @

1.5



2.6
3.12

4.9

Correct Answer :-

23) Gandhi Sagar Dam has been built on river. / e ARR T BT q'cﬂ R
CRIIRIDIE

1. Narmada / THaT

2. Chambal / &

3. Betwa / Sddl

4. Mahanadi / HgTId]

Correct Answer :-

e Chambal / JH

24) Directive Principles of State Policy is contained in of the Constitution of India. / I759 &

Hife frdsre da, WRdMg dfdem s #fARa
1. Part 1l / HIIT 11

2. Part 1l / HIT 1l

3. Part IV/ HIIT IV

4. Part VI / HIIT VI

Correct Answer :-

e PartIV/HITIV

25) Sanchiis located in the districtof ______./qidl, A A fRua g1
1. Bhopal / g

2. Sehore /ﬁ@?

3. Vidisha / fafc=

4. Raisen / I

Correct Answer :-

« Raisen / IO



26) was declared as India’s Cleanest City in the Swachh Survekshan-2017 conducted by the
Ministry of Urban Development. /%ﬂ ICEIGEEID AR 3maford Wﬁw2017ﬁ Al
YRA BT I8 a0 ¥ Nivd foar war 4mi

1. Indore/s'aT

2. Mysuru /ﬁ?
3. Varanasi / GRTOT

4. Ahmedabad / SgHqIdIg

Correct Answer :-

. Indore/g?aT

27) The Indo-Tibetan Border Police Force was raised in the year ./ YRa-fosga diar Hﬁl’\q

CACL o wyTfUe forar T o1
1. 1967
2.1948
3. 1973

4. 1962

Correct Answer :-
e 1962

28) India's first Partition Museum was inaugurated in the year L HRA® tl?ﬁ fayreT
THETag I 3gaeAqd W gyl

1. 2016
2. 1965
3. 1982

4. 1952

Correct Answer :-

29) Indian Institute of Soil Science is located at ./ HIRA Hal ﬁil'ﬁ I e s |
fRa gl

1. Jamshedpur/m@

2. Pune/gﬁf
3. Bhopal/“—ﬁ'lTIFT



4. Vadodara / a:sf Taxl

Correct Answer :-

e Bhopal / Hare

30) is the largest container port in India and is also known by Nhava Sheva. /

YRT BT HGA 8T ek §¢NE ¢ o g1ar Rar & A9 J ot Sr=1 Aran 21
1. Kandla Port / hiedl SGIE

2. Kolkatta Port / BIARTAT SEITE

3. Mormugao Port/ﬁ@ﬂ\’rﬁ EIARIF

4, Jawaharlal Nehru Port / SIdIgxcllcd '}Iﬁ%\ dd(‘lls

Correct Answer :-

 Jawaharlal Nehru Port / SIdTeRcdlcd '}16%\ CERII

31) Which of the following states was received the KRISHI KARMAN award for the 5th time in

succession in 2017 for wheat production? / FHafef@a H 9 fra g oY 2017 | ﬂE’ & IATGT &
T AR 5 ff IR FY FHTRIBR UTE 3T U2

1. Punjab / USTTS
2. Jharkhand / IIRES
3. Uttar Pradesh / 3T EI%QT

4. Madhya Pradesh / H& LR

Correct Answer :-

e Madhya Pradesh / HYJ e

32) Rani Rupmati's Pavilion is located at ./ I =YHA BT Hed i fua % |
1. Patalkot / UTATADIC

2. Chanderi / G

3. Mandu/ﬂT_i
4. Khajuraho / 99X él

Correct Answer :-

e Mandu/ 'HT_§'



Who was honoured with Sahitya Akademi Award in 1972 for his book Buni Hui Rassi? /1972 g

Ut fopare < g+7 55 veel? & fore foraet wifew et ReepR & qwf-a fovar mar ¥1?
1. Bhawani Prasad Mishra / HaT=! UG (HET

2. Abdul Latif Khan / 3/sgd €IdIth &4

3. Makhanlal Chaturvedi / RG-S Iqag]

4, Bal Krishna Sharma / dT¢f W] R

Correct Answer :-

« Bhawani Prasad Mishra / HaT-t UgTE 08T

34) complete the series choosing the missing number: / &l J=T AP %[E?IT Ca| T

PIforg:

4,6, 12, 14, 28, 30,
1.32

2. 62

3. 64

4. 60

Correct Answer :-

e 60

35) Complete the series choosing the missing number: / &l ST AP m Cal T

0, 6, 24, 60, 120,
1.210
2. 220
3.215

4. 200

Correct Answer :-

e 210

36) Complete the series choosing the missing number: [/ &l J=T AP m ol Rl
Hﬁﬁl'({:

1,3,3,6,7,9, ;12,21

1.11



2.13
3.10

4.12

Correct Answer :-

e 13

37) In a certain language, Bananas are not ripe is written as Onka Pent Lepu Jima, Fruits are
ripeis written as Prefa Lepu Onka, Ripe mangoes are good is written as Lepu Jink Onka Reta.

What word represents fruitsin the language. / T WTH PIS TSI 'l?f, Bananas are not ripe Ca)
Onka Pent Lepu Jimafor@1 SITd1 8, Fruits are ripe @\ Prefa Lepu Onka for@r wiran g, 3R
Ripe mangoes are good P Lepu Jink Onka Reta feraT sirar % | 9 HTHT ¥ fruit® ﬁl‘l;f IE]

g BT AT fHaT a1 82
1. Jink

2. Prefa

3. Lepu

4. Onka

Correct Answer :-

» Prefa

38) Madhya Pradesh Government has proposed to develop the 'Ramayana Circuit' at ./
e YR WRPR A # ITgur gf$e &1 faefia w37 &1 uwama fear g1

1. Sanchi / It

2. Chitrakoot / ﬁﬁ@

3. Khajuraho / 99X gl
4. Orchcha / 3BT

Correct Answer :-

« Chitrakoot / W

39) The Scheduled Castes and the Scheduled Tribes (Prevention of Atrocities) Act was passed by

the Parliament in the year i Glﬂ'\‘lﬁﬁ St auT Gﬂﬁﬁﬁ ST (SAMERT FRIUS)
sfufra wag grrad & uila fasar war am

1. 1967

2. 1976

3. 1996

4. 1989



Correct Answer :-

e 1989

40) The series given below contains a sequence of humbers. Identify the incorrect combination:

R & 7€ @ §, JEnell BT TP HH SURIT &1 Tod Hared Tgag:
2,15,41,80, 134

1. 41

2. 80

3.15

4.134

Correct Answer :-

e« 134

Topic:- Mental Ability and Mental Aptitude

1)
.4 e =3 ..
Length of a rectangular room is 2 Emetre and width is 7 5 metre. Whatis its area? / Udh HIIATHRH

FAY £ FaS, ?%mﬂmaﬁa@ ?gmammmwwa?

4
20—15q.
g
4
21-8q.
5 o

)
23— Sg.m
g q

Correct Answer :-

2) In the sequence shown below, which figure comes next? EiE| ﬁ'& ™ HH ﬁ:, SATET G-I'Iq?ﬁf CaL
@t amaft:



O+ + O + X x 1
O X T = ?
x T 1t = =3 S #
1 L w w v
@1t
s #
1.
W X
T
=%
2.
. i —
s
r@
3.
TS
#@
4,

Correct Answer :-

3) In the sequence shown below, which figure comes next? / ﬁ%%& ™ HH ﬁ, SATET ﬂ'l?ﬁl’ CaL
@ amartt?

e




Correct Answer :-

4) 666.06 + 66.60 + 0.66 + 6.06 + 6 + 60 = ?
1. 820.66
2.798.52
3. 805.38

4. 845.38

Correct Answer :-
e 805.38

5) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: /ﬁiﬂﬂ'&" mﬁ, G{&Iﬁ ﬁWGﬁWWWﬁ%H%I quﬂw
i.twerg02453grewt

ii.twerg02453grewt

iii.twerg02453grewt

iv.twerq02453grewt

1. iii



6) The Product of ages of X and Y is 80 and the ratio of the ages of X and Y is 5:16. Find the present
age of Y. / X 3R Y B} 3T BT TUMFHH 80 § 3T X 3R Y P 3T BT 3UTd 5:16 81 Y P! IdHA
3Tg JTd Be |

1.32

2. 16

3.4

4. 14

Correct Answer :-

e 16

7) In a group of 6 persons, when one person with an age of 30 years is replaced by another person,
the average age of the group decreases by 2 years. Find the age of the new person. / 6 Hfaaal & Udh

g T, 919 U 30 IUTT SAfad &) o0 Afaa I ga faar a1 at wg o1 ohud omg 2 ad ue
STl 8 1 AT Safa Y Mg J1d B |

1. 16 yrs / 16 a9
2. 22yrs/223'5f
3. 18 yrs/185|'5f

4.20 yrs / 203'@

Correct Answer :-

. 18yrs/185|'§

8) 5 students can finish 10 projects in 3 days. How much time will 3 students take to finish 12 projects?

%%?;rﬁ, 10 Motee 3 fot o [T 9% T g1 12 Moae &) RT A3 F e 3 o &1 fra—r aua

1. 12 days /12 f&
2.6 days / 6 fe
3. 10 days / 10 &

4. 4 days / 4 TeA

Correct Answer :-

. 6days/6ﬁ7f

9) A shopkeeper allowed 5 % discount on marked price of the tape recorder. If the selling price is Rs.
1273, then what i its marked price? / T GPGR A ¢U RapT1sT & 3ifhd Ioa IR 5% Pt e Bt
Srgafa <t afe faspa gea 1273 U § 9 3UHT Sifd geu fea=m ghm?



1. Rs. 1440 / 1440 304
2. Rs. 1140 / 1140 3G
3. Rs. 1240 / 1240 ST

4. Rs. 1340 / 1340 SUY

Correct Answer :-

« Rs. 1340/ 1340 ST

10) A person’s present age is two-fifth of the age of his mother. After 8 years, he will be one-half of the
age of his mother. How old is the mother at present? / Tdh fed &1 gdq= S IS HIAT I S
Pt 2/5 81 8 T & UYT, Y U HIGT BT 3T HT ST S| IATH H D! A fpa 9 F1 82

1.44
2. 38
3.40

4. 42

Correct Answer :-
e 40

11) Ten men and 15 women, working together can complete a piece of work in 6 days. It takes 120 days
for a man to complete the same work. How many days will one woman take to complete the same

work? / & T 3R 15 AfFATE, WY # H1d Hd 5T TP &1 B! 6 fa=1 & qof &= I &1 320
zﬁﬁ%ﬁqﬁmﬁﬁwwaﬁmﬁ?wﬁ?lGﬁwﬁwmﬁﬁwmﬁﬁmﬁﬁq

1. 150 days / 150 feq
2. 200 days / 200 f&
3. 180 days / 180 f&

4. 125 days / 125 f&

Correct Answer :-

« 180 days /180 f&

12) Find the value of (28 +2 *3-17/17) / (28 + 2 * 317 / 17) T HI- JTd < |
1. 33
2.0
3.34

4.1



Correct Answer :-

e 33

13) In a group of players, 10 play only Cricket while 20 play only Football and 5 players play both. How

many players are there in the group?/W%WWﬁ, 10@?@%?%@@%
;a%zommmﬁ@ﬂ%%aﬁ?smaﬁ@ﬁ%%wwﬁwmﬁm

1. 20
2.25
3.30

4. 35

Correct Answer :-

e 35

14) The number of cars produced annually in a factory increased by 12.5 %. If 9720 cars were produced

in 1978, the number of cars produced in 1976 was: / T PREM ¥ i dk W'ﬁ_d BRI PI
BT 12.5% T 9¢ T35 | TS 1978 W 9720 R Iautied g3 A, A 1976 W Iaurfea &1 f:

1. 7500
2. 7680

3.10933

4, None of the above / SRIgd H I Oh\larTEﬁ

Correct Answer :-

15) Meera’s mother is four times as old as Meera. After 5 years her mother will be 3 times as old as she
will be. Then what is the age of Meera? / o1 &t i, RTI IR A1 39 ﬁWET %I i aﬁa'l'd,
IIP! Hi DI TG I MY A I 1 3 SIeatt | FR1 Y aefur mg & g2

1. 20 years/ZOHﬁf
2. 5years/5 CL
3. 10 years / 10 a9

4. 15 years/ 15 CL

Correct Answer :-

e 10years/ 10 Gl



16) Three persons are walking from A to B. Their speeds are in the ratio of 4 : 3 : 5. The time ratio to

reach B will be: / -1 SAfRI, A B TF TAIQ | SAPI AT 4: 3 : 5P U W 3| B B Ugd- I
UG 3UTd §HT:

1.5:3:4
2.15:20:12
3.4:3:5

4.15:9:20

Correct Answer :-
e 15:20:12

17) Which one of the following four addresses is NOT EXACTLY same as the one given below? / ﬁn;rﬁ'&

T IR Ual § ¥ = 23 1 v & St 0= &9 91 v 781 82
Thorsten

Antwerpener Str. 47,

Berlin, 13353

(i) Thorsten
Antwerpener Str. 47,

Berlin, 13353

(ii) Thorsten
Antwerpener Str. 47,

Beslin, 13353

(iii) Thorsten
Antwerpener Str. 47,

Berlin, 13353

(iv) Thorsten
Antwerpener Str. 47,
Berlin, 13353

1. iii

2. i



18) On April 1, Ben had a bank balance of Rs. 99945.60. In April, he deposits Rs. 4506.70, withdraws Rs.
2390.45, again deposits Rs. 10006.55 and withdraws Rs. 7823.30. On April 30, he withdraws Rs. 15000
and deposits Rs. 75000. What is the balance in Ben's account on May 1? / 1 3rie ﬁ, a1 P U S

@Td H 99945.60 TUY A AUA A, ITA 4506.70 TUA STHT 5, 3T 2390.45 TUA fAewTa forg, fp=
GaRT 10006.55 FUA STHT HT § 3N 7823.30 YU T A1 71 30 30 HI at 15000 U
freTerdT & 3R 75000 TUY SHT HIAT &1 1 HS I o9 & @Td H fHa-T 4= Av Igar g2

1. Rs. 44245.1 / 44245.1 SQY
2. Rs. 169026.7 / 169026.7 SUA
3. Rs. 179891.7 / 179891.7 ST

4. Rs. 164245.1 / 164245.1 R0

Correct Answer :-
e Rs.164245.1/164245.1 Fcl'a

19) The ratio of Rahul's income to his savings is 11 : 2. What will be the expenditure, if his savings is Rs.

760? / TEE DI 3T A FOd BT 3AJUT 11:2 31 TS ITP U 760 UL A 4T HIT TN
1. Rs. 1,470 / 1,470 04
2. Rs. 6,840 / 6,840 ¥UU
3. Rs. 2,450 / 2,450 ¥UU

4. Rs. 3,420 / 3,420 U

Correct Answer :-
« Rs.3,420/ 3,420 300

20) Suresh gets Rs. 55 when a sum of money is distributed among Sachin, Vinod, and Suresh in the ratio
of 2 : 3 : 1. Sachin and Vinod will receive a combined sum of . /Gﬁﬁv_\‘ﬁ QF'RTQTaﬁﬂﬁFT,
faeiie 3R o= & 1 22 3 : 1 & 3rguTa | faafa fvam mar ot =1 +1 55 9w gel Afe
3R famig & Pt Faifora IRy 9T gt

1. Rs. 220 / 220 ¥0T
2. Rs. 330 /330 304
3. Rs. 275/ 275 394
4. Rs. 550 / 550 ¥UY



Correct Answer :-

e Rs.275/275 300

21) Kamal can type 70 pages in 14 hours. How many pages can he type in 20 hours? / PHA 14 el H
70 US 273U & Pl ¢ | 20 Ul A qY fobaq UY T30 = 9T 82

1. 85
2.90
3. 100

4. 110

Correct Answer :-

« 100

22) If Sujata's age will be double her present age in 16 years, how old will she be then? / 16 au‘fﬁtri%

YT B TG IHD! GTAI ST BT GNAT 81 SIEH ot 9 3 FHY fova af &6t g
1. 16 years /16 98
2. 40 years / 40 9
3. 24 years / 24 Y

4. 32 years / 32 a'ﬁf

Correct Answer :-

e 32years /32 a'ﬁf

23) |Inan institution, 2/7th of the girls and 1/3ml of the boys took part in a social camp. What part of the
total number of students in the college took part in the camp if the ratio of number of boys to that of

girls in the school is 3:7?/@%1})33%@% 2/7%@@"?3’3&3}%’7 1/3%@'%@
graTioTe $u A U forar uT1 afe aswl © asfeal o1 faemeaa # erqurd 3:7 8 @) wias & o
F pa =T BT foraqr urT Fu A ufaurtt ar

1.5/7
2.1/10
3.3/10

4. 3/7

Correct Answer :-

« 3/10



24) Anisosceles triangle whose sides are 13 cm, 13 cm and 10 cm long is inscribed in a circle. Find the

radius of the circle. /WW@E@%@,WW 13 '\ﬁ'l:ﬁ, 13 It 3R 10%@%;%@@
g ® Icivf forar T 31 99 1 B yra #3

1.7.04 cm / 7.04 IH
2. 8.05 cm / 8.05 9T
3. 4.05 cm / 4.05 THT

4.5.03 cm /5.03 99t

Correct Answer :-

« 7.04cm/7.04 99

25) If a reduction of 20 % in the price of milk allows a person to buy 10 litres more for Rs. 120, then,

what is the original price of milk? /ﬁgﬂ%qmﬁm%aﬂwwﬁaﬁ 120 39 H 10 ftex
3R g Tde F rgufa I 8 O gU &1 arafas gou w1 82

1.Rs.2.5/2.5 300
2.Rs.5/5%04
3.Rs.4 /4304
4.Rs.3/3%04

Correct Answer :-

« Rs.3/3%0Y

26) If the following two squares shown below overlap, which one of the following options is formed? /

gfe form 3 af sifereafia g € <t g & @ ) a1 v fadped ST 82




Ty

27) Anand and Bindu are co-dwellers in an apartment. There are two lifts, A and B, in the apartment
but their speeds are different. Lift A goes up/down at the rate of 69 floors per minute; while Lift B goes
up/down at the rate of 51 floors per minute. One day, Anand gets into Lift A from the fifteenth floor to
ascend, while Bindu gets into Lift B from the fifty-fifth floor to descend. If they have to meet each other,
without any lapse in time, then in which floor must they have to get down? / 3{T-¢ 3R ﬁg Udh SHRd
T 1Y ¥Ed 8 1 3HRd § qf forde, A 3R 8 § IR 391 T1d fia 81 forde A SuR/AR 60 wfvre ufar
fre 3t ara @ sdl/wTdt 8; wiafe forge 8 Swr/AR 51 wfora ufa e &t ara 3 srdl/wrdt 21
TS {1, 3iTHig Ungdl wivre & SR 91 & e forve A o qyan 8, Siafe faig forve s & wave
Hforer & e oM & fore gt 81 afe 34 S &) e Iwa e fiee @ Y S fpa A w®
IR ST R

1. 38
2.19
3.37

4. 30

Correct Answer :-
e 38

28) The ratio of the ages of Suresh and Ramesh is 4 : 3, The sum of their ages is 21 years.

The ratio of their ages after 6 years will be: / T 3R I Y 3T HT U 4 : 3 8, ITD!



3T &1 ARTHA 21 99 g1 6 T UYTd SAD! 3T BT JUTd SHIT:
1.5:6
2.5:3
3.3:5

4.6:5

Correct Answer :-

29) Find the average. / 3Na e

44, 62, 84, 98,12 & 36
1. 50
2.57
3. 48

4. 56

Correct Answer :-

e 56

30) In a city, 40% of the people are illiterate and 60 % are poor. Among the rich, 10 % are
illiterate. What percentage of the poor population is illiterate? / T RgX 'ef, 40% T 3¢ 3R
60% TN TR &1 3R & d19, 10% 3F9e 8| T Mard) &1 fra-n ufa=a Fque 82

1. 40%
2. 60%
3.36%

4. 80%

Correct Answer :-

e 60%

Topic:- Science and Simple Arithmetic

1)



In the given figure, find the value of #DAC in the quadrilateral if # ACD =v +11° and »DAC
= 3y+2 and £CAB =26°. / faU aw fax &, agsfs HLDAC &1 A 7A@ & ARG

£ACD =y +11°Td £DAC =3y+2 & @21 £CAB =26° &1

D C

AS B
1. 49°
2. 45°
3.33°
4.47°

Correct Answer :-

. 47°

2)
The quotient when 36 a® b? c¢? — 18 a* b?c? is divided by 18abc? is: /AT 36a® b ¢ — 18
a*b2c! T 18abc? § Tqenfora ffRar =imar & o 9eTse gl

1.2a%b2—a3 b3
2.2ab%*+a b’
3.a5-b°
4.2a’b-a’b

Correct Answer :-

e 22%b-2°b

3) If 6 apples can be bought for Rs.32, how many apples can be bought for Rs.192? / afe 6

AT 32 T A @IS ST TP &, dl 192 = § fhraq 9 @IS &1 Ihd 82
1. 32

2. 34

3.30



4. 36

Correct Answer :-

e 36

4) Ram deposited Rs.7000 in a bank. If the rate of simple interest for 2 years is 6%, find the
amount he will get back at the end of this period. / ITH e U 335 7000 ¥ ofHT ﬁ?(’,'l ?T% 2
qul & oI YTYRUI TS B <X 6% 8, a1 a8 A 1 ot 59 safy & oid A IF auy
forer st

1. Rs.7200 / 7200 =
2. Rs.7840/ 7840 =
3. Rs.8000 / 8000 =
4. Rs.8250/ 8250 =

Correct Answer :-

« Rs.7840/7840 %

5) Simplify: / T PIfTC:

(3x +4y) (3x —4y) — ( 2x +6y)( x + 2y)
1.5x2 - 10 x y

2. 5x% 28 y2

3.7x2 - 10x y -28 y?

4. 10xy-28y

Correct Answer :-

. 7X2— 10xy-28 y2

6) If 8 times a number is equal to 48, then the number is: / gfe T HWAT HT 8 T[T 48 &

IR g, 1 T g
1.6
2.10
3.9

4.8

Correct Answer :-



7) If O is the centre of a circle with radius 10cm, and AB is a chord at a distance of 6cm from
the centre, then the length of the chord AB is: / ?T% 0,10 I BT & g dl aﬁ %, 3R
AB % I 6 At B1 gt IR T Sitan 3, <t Siiar AB 3 @aTg ghi:

1.8cm/8@'5ﬁ
2.9cm/9@ﬂ:ﬁ
3.10 cm / 10 9T

4.16 cm / 16 4T

Correct Answer :-

« 16cm/ 16 94

8) One morning, Diya observed a rose in her garden .On the second day, she observed two
roses. On the third day, she saw four roses; and on the fourth day, eight roses. If this pattern
continued, how many roses will be there in the garden on the 20th day? / Y {dg, CUIE|

30 ST & U Terme <1 g o, S 8 e | e i, 39 IR o ¢
3R A R, 3116 @ra | 3R T8 Tt WY 3@, @Y 209 e i) & fra ame giire

1.2°
2.2°
3. 919
4,210

Correct Answer :-

9) Find the least number that must be added to 13325 to obtain a perfect square. / ¥ q:Uf

T U H1 & fore 13325 A A1 I YHaw =1 St §A @it
1. 131
2. 151
3. 161

4. 141

Correct Answer :-

e 131



10) By selling a sari for Rs.1080, a shopkeeper earns 8% profit. The cost price of the sari will
be: /1080 & H UH ATS! 9UDR, Th GHIGR 8% TTH HHIAT ¢ | TSI I ARG B 1A

1. Rs.900 / 900 =
2. Rs.1000 /1000 =
3.Rs.1100/ 1100 &

4. Rs.800 / 800 ¥

Correct Answer :-

« Rs.1000/ 1000 =

11) The dimensions of a cuboid are in the ratio 4: 3:1. If its volume is 8748 Cubic cm, find
the total surface area of the cuboid. /W‘EFIT@I ) ﬁ'FITEr 4:3:17% SIUTd A %:I tlﬁ ES
T 8748 T QL B, A TR 3T oot U317 &wd ey

1. 3078 sqem / 3078 G
2.2322 sqem /2322 1 T
3. 4422 sqem / 4422 I Ut
4.5622 sqem / 5622 1 T

Correct Answer :-

. 3078 sqem / 3078 T THT

12) The unit digit of the cube of 862 willbe ___./862 % U BT SPIg 3 BRI
1.4
2.6
3.2

4.8

Correct Answer :-

13) The perimeter of a rectangle is 72 meter. If one side of the rectangle is 12 meter more
than the other side, the measure of the sides are: / Th ATId BT TiHTg 72 HieR %I ‘Tﬁ'
T Pt TH YT gt YT | 12 Hiew i 8, O Yowaii &1 a41d g



1.16m,24m/ 16 ¥, 24
2.20m, 24 m /20 |, 24 Ht
3.18m, 30 m/ 18 @1, 30
4.12m,24m/ 1291, 24 A

Correct Answer :-

e 12m,24m/ 129, 24 H

14) The probability that a red card will be drawn from a pack of 52 playing cards is: / 52

a1 & Ul 9T) U Uep A U AT Ul e &1 yifiesdr gift:

b | =

L |

Correct Answer :-

15) Name the watery fluid in which blood cells float. / 39 el & ST qddigu, foraw IPpd
HIRBTY RA T

1. Blood / Xpd

2. Serum / ¥RA

3. Plasma / SIIIGqY (WITSHT)

4. Lymph / I (W)

Correct Answer :-

« Plasma / Slldgqd (WA

16) Name two protein containing Rabi crops: / al ﬁ?ﬁ Idl B HEal & A qdIgy o wid=
UTT ST 3

1. Coconut and til / ATRIA Td faa



2. Pulses and gram / GTdi Td IHT

3. Cotton and jute / U Td JcIH

4, Tea and coffee / dIY Qa BB

Correct Answer :-

e Pulses and gram / aret Td -0

17) Which one of the following is the most ductile metal? / fafeIfRaa A P TH CIG LGRS
T

1. Zinc / STl
2. Gold / ol
3. Copper / dI¥
4. Lead / 1T

Correct Answer :-

« Gold / &qu

18) How many daughter cells will be formed when 4 mother cells divide once? / S1d 4 S[Ph

wmmwwﬁmmm%ammmmmm

1. 16
2.4
3.2

4.8

Correct Answer :-

« 8
19) The metal released in electrolysis gets deposited on the . /ﬁ'gqa-arqm | S(aydd Eﬁﬁ
qrelt g R ST g el 7

1. sides of the container / %_@@ CaACARIR
2. cathode / %@I‘s’

3. half on the anode and half on the cathode / Q:i S U3 HTYT dUT %?ﬁ@ T3 HTYUT

4. anode / Q:“S

Correct Answer :-

e cathode / %th



20) The shape of the orbit in which a comet revolves around the sun is: / PE&T 4| GI'I?F\'I, foraw Th

YT G4 & TR 3R gHaT 3, el 3:
1. Circular / bR

2. Semi-circular / 3G-gAAHR

3. Parabolic / TRAAID

4. Highly elliptical / 39d ¥U ¥ GrHgqdidR
Correct Answer :-

« Highly elliptical / 3Td %0 ¥ ¢HgqaidR

21) Who coined the term protoplasm? / X[€q ‘lﬂ'a'f[?lm’ e ffifa foeam?
1. Rudolf Virchow / SSIe(® fadf

2. Purkinji / Gfebott

3. Robert Brown / Jec o134

4. Robert Hook / T\fa@
Correct Answer :-

« Purkinji / gfchoit

22) The term gene was coined by . / X ST, & gRT ufaurfed fan
g1 Y71

1. Mendel / Hed@
2. Johannsen / SIgT=T9
3. Darwin /S fa

4. Watson / dicdd

Correct Answer :-

« Johannsen / SIET=IIH

23) Amoeba : unicellular :: : multicellular/ 3HiaT QﬁﬁﬁTﬁ

1. Euglena / ?I’Fﬁ:ﬂ
2. Chlamydomonas / FARS AT

3. Bread mould / S AIGS (ﬂﬁaﬁtﬁ%)



4. Paramecium / TRTHIRIGH

Correct Answer :-
« Bread mould / 8 Al R &1 g )
24) The screen on which the image falls in the eye is: / 3iT@ # 98 Ucd forg wR of9 3l 8:
1. Lens / T=d
2. Cornea / Aducd (PIT-am)
3. Retina / EPYed (Xfe)
4. Tris / RATRT (M)

Correct Answer :-

« Retina / E¥Uea (Xfe)

25) The vein that does not transport deoxygenated blood is ./

fasiiRief~a $ftR afivags 7 &=+ arelt RRT gl
1. superior vena cava / 3¢ HeIRRT

2. hepatic portal vein / I&d fAarfget RRT
3. pulmonary vein / PUpY RRT
4. renal vein / & fRRT

Correct Answer :-
« pulmonary vein / pUpY fRRT

26) The microorganism that acts as the fermenting agent in the conversion of sugar into

alcohol is: /g&ASNa Y Tepleia § BT &b URadd # @R HHe Pt g S HaT @,
Feami gl

1. Penicillium / G-I-fIferag

2. Lactobacillus / dae] SR
3. Rhizobium / JSSNagH

4. Yeast / WHR

Correct Answer :-

« Yeast/ @HR



The cause of change in motion or change in the state of motion is:/ Tfa &t HqHUT |

uf¥ad= a1 wfa # uf¥ada o1 R §:
1. Friction / ST
2. Force / d¢]

3. Atmospheric pressure / aqutc',Fﬁu qld

4. Pressure / qldl

Correct Answer :-

e Force/dd

28) Which one of the following plant parts is not used in vegetative propagation? / IGL=INIECE

A I NI BT S I U, ITefa yad= A swaaTe 8} fopar siran 22
1. Flower / ot
2. Stem / ddTl

3. Root / Hdl
4. Leaf / Gt

Correct Answer :-

« Flower/ Bod

29) The area of a trapezium is 1200 sq.m. If the distance between the two parallel sides is 20 m
and one of the parallel side is 70 m, then the length of the other parallel side is: /TPH JHTH BT

&we 1200 37 W 31 fe ) THTER Yomait: & Fa g 20 W 7 R TH JHIAR Yo
70 Wt B, O g™} HiaR YT @1 dars ghi:

1.30 m /30 T
2.50m /50 |t
3.70 m/70 |t

4.90 m /90 |t

Correct Answer :-

« 50m/50H

30) The word B appears in a plane mirror as 8 due to: / &R B ma&wﬁmw a

fe@ars:
1. Dispersion/?ﬁlﬁnﬁ
2. Lateral inversion / tITQTa BIRCRE]



3. Wrong positioning of the mirror / U & TTerd fRufa
4. Reflection / TRTGd

Correct Answer :-

 Lateral inversion / qT‘\’h gfad



